
center #1 - Find the number of faces, edges, and vertices of the solid.

Draw a square plramid and hexagonal pyramid.

Center #2 - Find the surface area of the prisms.'I,,"
5m

Center #3
You want to put wrapping paper on the outside of a
shoebox with no lid. The length is 15 in., width is g in.,
height is 5 in. How much wrapping paper do you need?

A room has a length of 12 feet, width of 10 feet, and a
height of 8 feet. How much would it cost to cover all the
walls with wallpaper if the wallpaper costs 92.50 per
square foot?
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Center #4 - Find the surface area of the pyramids.

Center #5 - Find the volume of the prism.
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Center #6 - Write and solve an equation to find the

Volume = 90 ft?

n['u

The side lengths of the base are equal.

fltn"

missing dimension of the prism.

Volume = A8 cm?
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center #1 - Find the number of faces, edges, and vertices of the sorid.
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Draw a square pyramid and hexagona

Center #2 - Find the surface area of the prisms.'m,,"
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Center #3
You want to put wrapping paper on the outside of ashoebox with no lid. The tengit, is fS in., wiOth is g in.,height is 5 in. How much wrapping 0.0.r, Jo you need?
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I logr has a length of 12 feet, width of 10 feer, and aheight of 8 feet. How much would it cost to cover all thewalls with wallpaper if the wallpaper costs g2.50 persquare fogt? _

=lYtl).
I  \-/
T* lb

FtO = \LAe
3rAsz: (o rb = tO xa: l to

_\@

SsCinl
19 ZQ+-

%'\b^^



center #4 - Find the surface area of the pyramids. The side lengths of the base are equal.
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Center #5 - Find the volume of the prism.
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center #G - write and sorve an equation to find the missing dimension of the prism.
Volume = 90 ft.9

Volume = 49 cm?
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